



$$f(n) = \frac{\log(n^r - n - r)}{}$$

$$\sqrt{n^2-1} + 1 \Rightarrow \sqrt{n^2-1} + 1 \cdot \sqrt{n^2-1} - 1$$

$$\log x^{r-n-r} \Rightarrow x^{r-n-r} > 0 \quad (x-r)(x+1) > 0 \quad \frac{x}{x^2 - x + 1} \quad (-\infty, -1) \cup (0, 1) \cup (2, +\infty)$$

$\mathbb{I}, \mathbb{II} \Rightarrow$

 $\Rightarrow \rho_f = (-\infty, -1) \cup (r, +\infty)$

عبارت درجه ۲ و قتی این شکل
 دامن دارد یعنی ۲، یعنی دایره
 و علامت $\pm$ ۲، یعنی ۲ و ۲

$$\begin{aligned} x &= -r \\ \Rightarrow r + a(-r) - (-r)^r &= 0 \quad r a = -1 \Rightarrow a = \frac{-1}{r} \\ \Rightarrow S &= \frac{-b}{a} = -\frac{(-\frac{1}{r})}{-\frac{1}{r}} = -1 \Rightarrow -r + b = -1 \Rightarrow b = \frac{r}{r} \end{aligned} \quad \left. \vphantom{\begin{aligned} x &= -r \\ \Rightarrow r + a(-r) - (-r)^r &= 0 \quad r a = -1 \Rightarrow a = \frac{-1}{r} \\ \Rightarrow S &= \frac{-b}{a} = -\frac{(-\frac{1}{r})}{-\frac{1}{r}} = -1 \Rightarrow -r + b = -1 \Rightarrow b = \frac{r}{r} \end{aligned}} \right\} \Rightarrow a+b = (\frac{-1}{r}) + (\frac{r}{r}) = 1$$

$$f(x) = \begin{cases} x-1; & x \geq 1 \\ x+1; & x < 1 \end{cases} \quad g(x) = \sqrt{f(x)-x} \Rightarrow f(x)-x \geq 0 \rightarrow f(x) \geq x$$

$$\begin{cases} \mu_{n-2}, n \Rightarrow \mu_{n-1}, 2 \Rightarrow x > 1; x > 1 \Rightarrow \sqrt{x} \text{ هو الجذر } \\ \mu_{n+2}, n \Rightarrow \mu_{n-1}, -2; x < 1 \Rightarrow -\sqrt{x} \Rightarrow D_g = [-2, +\infty) \end{cases}$$

$$f(n) = \begin{cases} (a+1)(n+1) & ; n > 1 \\ ra + r_n & ; n \leq 1 \end{cases}$$

$$r f(\omega) = f(-r) + a$$

$$1 \cdot a + 1 \cdot a = 2a - 1 \cdot a \Rightarrow 1 \cdot a = -1 \Rightarrow \underline{a = -1/n}$$

$$\begin{aligned} f(x) &= \sqrt{x} + \frac{1}{\sqrt{x}} + x \\ f(\sqrt{1+\sqrt{x}}) + f(\sqrt{1-\sqrt{x}}) &= \frac{1}{\sqrt{1-\sqrt{x}}} \times \frac{\sqrt{1+\sqrt{x}}}{\sqrt{1+\sqrt{x}}} = \frac{\sqrt{1+\sqrt{x}}}{\sqrt{1-\sqrt{x}}} - \sqrt{1-\sqrt{x}} \\ &= \frac{1}{\sqrt{1+\sqrt{x}}} \times \frac{\sqrt{1-\sqrt{x}}}{\sqrt{1-\sqrt{x}}} = \frac{\sqrt{1-\sqrt{x}}}{\sqrt{1+\sqrt{x}}} \\ &= \frac{\sqrt{1-\sqrt{x}}}{\sqrt{1+\sqrt{x}}} = \frac{\sqrt{1-\sqrt{x}}}{\sqrt{1+\sqrt{x}}} \end{aligned}$$

$$\begin{cases} r f(n) - r f(n-1) = (n-1)^{r-1} & \text{--- } x=1 \\ r f(n-1) - r f(n) = (n-1)^{r-1} & \text{--- } x=-1 \end{cases}$$

$$\begin{aligned} & \Rightarrow r f(n) - (n-1)^{r-1} = r f(n-1) \\ & \Rightarrow r f(n) = (n-1)^{r-1} + r f(n-1) = 1 + r f(n-1) \\ & \Rightarrow r f(n) = 1 + r f(n-1) + (n-1)^{r-1} \end{aligned}$$

$$\Rightarrow r f(n) = 1 + r f(n-1) + (n-1)^{r-1} \Rightarrow r f(n) = 1 + r f(n-1) + (n-1)^{r-1}$$

$$f(n) = \frac{1}{r} n^r = \frac{n^r}{r}$$

$$(n+1)f(n) - n f(n+1) = (n+1)^r - (n+1)^r = 1$$

$$\begin{aligned} \Rightarrow & r f(n) - n f(n+1) = (n+1)^r - (n+1)^r = 1 \Rightarrow \begin{cases} r f(n) = 1 + n f(n+1) \\ r f(n) = 1 + n f(n+1) + (n+1)^r \end{cases} \\ \Rightarrow & (-1, r) f(n) - n f(n+1) = (n+1)^r - (n+1)^r = 1 \Rightarrow \begin{cases} r f(n) = 1 + n f(n+1) \\ r f(n) = 1 + n f(n+1) + (n+1)^r \end{cases} \end{aligned}$$

$$\Rightarrow r f(n) = 1 + n f(n+1) \quad r f(n) = 1 + n f(n+1) \Rightarrow \begin{cases} r f(n) = 1 + n f(n+1) \\ r f(n) = 1 + n f(n+1) \end{cases}$$

$$\Rightarrow 1 + n = 1 + n \Rightarrow n = 1 \quad \Rightarrow r f(n) = 1 + n f(n+1) \Rightarrow f(n) = \frac{1}{r} n^r$$

$$f(n), f\left(\frac{1}{n}\right) = \frac{n^r - 1/n^r + 1}{n} \quad f(-1) = ?$$

$$ax+b + \frac{a}{x} + b = \frac{ax^2+bx+a+bx}{x} = \frac{ax^2+2bx+a}{x} = \frac{1^2-1+1}{1} = 1$$

$$\Rightarrow y = r x - 1 \Rightarrow y = r(-1) - 1 = -1$$